

19.3.19

3 אב' ברוך לזר אן מרנא

$$\int x \cdot e^x dx$$

$$f' = e^x \quad g' = 1 \quad (1)$$

$$f = e^x \quad g = x$$

$$= x e^x - \int e^x dx = x e^x - e^x + C$$

$$\int x^4 \ln(x) dx$$

$$f' = x^4 \quad g' = \frac{1}{x} \quad (2)$$

$$= \frac{x^5 \ln(x)}{5} - \int \frac{x^4}{5} dx$$

$$f = \frac{x^5}{5} \quad g = \ln(x)$$

$$= \frac{x^5 \ln(x)}{5} - \frac{x^5}{25} + C$$

$$\int x \sin(x) dx$$

$$f'(x) = \sin(x) \quad g' = 1 \quad (3)$$

$$= -x \cos(x) - \int -\cos(x) dx$$

$$f = -\cos(x) \quad g = x$$

$$= -x \cos(x) + \sin(x) + C$$

$$\int x \cos(\ln(x)) dx$$

$$f' = 1 \quad g' = \frac{-\sin(\ln(x))}{x} \quad (4)$$

$$= x \cos(\ln(x)) + \int \frac{\sin(\ln(x))}{x} dx$$

$$f' = 1$$

$$g' = \frac{+\cos(\ln(x))}{x}$$

$$= x \cos(\ln(x)) + x \sin(\ln(x)) - \int \cos(\ln(x)) dx$$

$$f = x$$

$$g = \sin(\ln(x))$$

$$\int \cos(\ln(x)) dx = \frac{1}{2} x \cos(\ln(x)) + \frac{1}{2} x \sin(\ln(x)) + C$$

$$\int e^{2x} \sin(4x) dx \quad f' = e^{2x} \quad g' = 4\cos(4x) \quad (5)$$

$$\int = \frac{1}{2} e^{2x} \sin(4x) - \int 2e^{2x} \cos(4x) dx \quad f = \frac{e^{2x}}{2} \quad g = \sin(4x)$$

$$= \frac{1}{2} e^{2x} \sin(4x) - \frac{2}{2} e^{2x} \cos(4x) + 2 \int 2e^{2x} \sin(4x) dx \quad f' = e^{2x} \quad g' = -4\sin(4x)$$

$$+ 5 \int e^{2x} \sin(4x) dx = \frac{1}{2} e^{2x} [\sin(4x) - 2\cos(4x)] \quad f = \frac{e^{2x}}{2} \quad g = \cos(4x)$$

$$= \frac{1}{10} e^{2x} (\sin(4x) - 2\cos(4x)) + C$$

$$\int x \ln(x^2+1) dx \quad f' = x \quad g' = \frac{2x}{x^2+1} \quad (6)$$

$$= \frac{x^2}{2} \ln(x^2+1) - \int \frac{x^3}{x^2+1} dx$$

$$\Rightarrow \int x - \frac{x}{x^2+1} dx \quad g' = \frac{1}{2}$$

$$\frac{x^3}{x^2+1} = \frac{x^2+1}{x^2+1} \cdot \frac{x}{x^2+1} = \frac{x^2}{x^2+1} + \frac{x}{x^2+1}$$

$$= \frac{x^2}{2} \ln(x^2+1) - \frac{x^2}{2} + \frac{\ln(x^2+1)}{2} + C$$

$$\Rightarrow x - \frac{x}{x^2+1}$$

$$\int x^2 \arctg(x) dx$$

$\Rightarrow \frac{1}{6}$

$$f' = x^2 \quad g' = \frac{1}{1+x^2} \quad (7)$$

$$= \frac{1}{3} x^3 \arctg(x) - \frac{1}{3} \int \frac{x^3}{1+x^2} dx$$

$$f = \frac{x^3}{3} \quad g = \arctg(x)$$

$$= \frac{1}{3} x^3 \arctg(x) - \frac{x^2}{6} + \frac{\ln(x^2+1)}{6} + C$$

$$\int \frac{1}{(x^2+1)(x^2-1)} dx$$

(8)

$$\frac{A}{x^2+1} + \frac{B}{x^2-1} = \frac{1}{(x^2-1)(x^2+1)}$$

$$\frac{A(x^2-1) + B(x^2+1)}{(x^2+1)(x^2-1)} = \frac{1}{(x^2+1)(x^2-1)}$$

$$\Rightarrow Ax^2 - A + Bx^2 + B = 1$$

$$\Rightarrow A = -B \quad A = B - 1$$

$$B - 1 = -B$$

$$2B = 1$$

$$B = \frac{1}{2} \Rightarrow A = -\frac{1}{2}$$

$$\frac{1}{2} \int \frac{-1}{x^2+1} + \frac{1}{x^2-1} dx$$

$$\frac{A}{(x+1)} + \frac{B}{(x-1)} = \frac{1}{(x+1)(x-1)}$$

$$Ax - A + Bx + B = 1$$

$$A = -B \quad A = B - 1$$

$$\Rightarrow A = -\frac{1}{2} \quad B = \frac{1}{2}$$

$$\frac{1}{2} \int \frac{-1}{x^2+1} dx + \frac{1}{2} \int \frac{1}{x+1} + \frac{1}{x-1} dx$$

$$-\frac{1}{2} \arctan(x) + \frac{1}{4} \ln|x+1| + \frac{1}{4} \ln|x-1| + C$$

$$\int \frac{1}{x^2-1} dx$$

(k)

$$= -\frac{1}{2} \ln(|x+1|) + \frac{1}{2} \ln(|x-1|) + C$$

(8 e) 'ad

$$\int \frac{x}{x^2-4} dx$$

(a)

$$\frac{A}{x-2} + \frac{B}{x+2} = \frac{x}{(x-2)(x+2)}$$

$$Ax + 2A + Bx - 2B = x$$

$$A+B=1$$

$$A=B$$

$$\Rightarrow A = \frac{1}{2} = B$$

$$\frac{1}{2} \ln(|x-2|) + \frac{1}{2} \ln(|x+2|) + C$$

$$\int \frac{1}{x^2+4} dx$$

x'edf o'317
o713oN o13oNf
 $f(x) + \frac{1}{\equiv}$

arctg(f(x))

(d)

$$\rightarrow \frac{f'(x)}{f^2(x)+1}$$

$$\int \frac{1 \cdot \frac{1}{4}}{(x^2+4)^{\frac{3}{4}}} dx = \int \frac{\frac{1}{4}}{\frac{x^2}{4}+1} dx \quad | \text{pr}$$

$$\frac{1}{2} \int \frac{\frac{1}{2}}{\left(\frac{x}{2}\right)^2+1} dx \Rightarrow \frac{1}{2} \arctg\left(\frac{x}{2}\right)$$

$$\int \frac{x+4}{x^2-2x+5} dx$$

(7)

$$\int \frac{\frac{1}{2}(2x-2)}{x^2-2x+5} + \frac{5}{x^2-2x+5} dx$$

(1/2) of (2x-2) (5) of (1/3d)

$$\frac{f'(x)}{f^2(x)+1}$$

$$\frac{1}{2} \int \frac{2x-2}{x^2-2x+5} dx + \int \frac{1}{x^2-2x+5} dx$$

→ 1/2 d

$$5 \int \frac{1}{(x-1)^2+4} dx = 5 \int \frac{\frac{1}{u} \cdot \frac{1}{u}}{\frac{(x-1)^2}{u} + \frac{4}{u}} dx$$

$$(x-1)^2 = x^2 - 2x + 1$$

← 1/2 d

$$= 5 \int \frac{\frac{1}{u}}{\left(\frac{x-1}{2}\right)^2 + 1} dx = \frac{5}{2} \int \frac{\frac{1}{2}}{\left(\frac{x-1}{2}\right)^2 + 1} dx$$

$$\frac{1}{2} \int \frac{2x-2}{x^2-2x+5} dx + \frac{5}{2} \int \frac{\frac{1}{2}}{\left(\frac{x-1}{2}\right)^2 + 1} dx$$

→ 1/2 d

$$\frac{1}{2} \ln|x^2-2x+5| + \frac{5}{2} \arctan\left(\frac{x-1}{2}\right) + c$$

$$\int \frac{4}{x-1} dx$$

(6)

$$4 \int \frac{1}{x-1} dx \rightarrow 4 \ln(|x-1|) + C$$

$$\int \frac{3x+2}{x-1} dx = \int 3 + \frac{5}{x-1} dx$$

(9)

$$3x + 5 \ln(x-1) + C$$

$$\int \frac{2x+1}{7x+1} dx = \int \frac{2}{7} + \frac{5}{7x+1} dx$$

(5)

$$\int \frac{2}{7} + \frac{5}{49} \left(\frac{7}{7x+1} \right) dx$$

$$\frac{2}{7}x + \frac{5}{49} \ln(|7x+1|) + C$$

$$\int \frac{x+1}{x^2+3x+2} dx = \int \frac{(x+1)}{(x+1)(x+2)} dx$$

(11)

$$\int \frac{1}{(x+2)} dx = \ln(|x+2|) + C$$